BICSE A =
©)104&,1004&, 1000fE D3 H 23z

| RoEIE. ZNFN6. | FEAELEETL £ 95,
(FFTVFIE, BZYFLL, )

® 61.9 L i / |o1gg6.| 1

| 004 6 1.9

6 | 9 & Z | 0001 | Of%

@ * L&é | g.
|o1gg

® 6190 %z 6 | 9 O

2 ROFHEZLILLY, BOFTVFIE #TYVIFLLEI, )

® 3.1 4 X 1 0

@ 6.2 8 X | 0 =

@ 3.1 4 X | 00 =

® 3.1 4 X | 000

@ fiFE zn%i@:@@@@%%@ﬂ@g



AICE : A B
2%

)ﬂ@m@@ ﬂ?
@) 104%,100f%,100015DEHE

| "oz, FNEFN6. | TEAELAEETL £ 5D,
(HDTV=FIE, BZFYFLLI, )

6.1 9
® 61.9 %z | 0 f& [ o
’ | 004 gé .9
6
6

@ 619 %z 100 & 1000f\ 106

| oﬁg

@ 6190 %A |0001

2 ROFHEZLILLY, BOFTVFIE #TYVIFLLEI, )

® 3.1 4x10=23114
N\

@ 6,28 X | 0=6 2.8
N\

® 3.1 4x100=2314
NN

@ 6.28 X1 00=06 2328
\NS

® 3.1 4 X1 000=3140
AN

® 6.28 xXx1000=62280

.2
\NAV

@ PIRE EX %ﬁﬁ?@?gwgg@ﬂkﬁ



